oo

ood gd

20020 60 300 —

http://www.math.meiji.ac.jp/ "mk/lecture/plane-curve/

1 0o0ooogoo
1.1 ogoooon
1.2 100000004

1.3 2000000000
2 0Oooon

3 Oogno

4 O0O0O00O0OOOOOO

4.1 UOOO0OO0OOOOO

e gnuplot 00000 M gnuplot 000!

e Mathematica 0 0 0O O O [ Mathematica 0 O [0 2

lhttp://www.math.meiji.ac.jp/ mk/labo/howto/intro-gnuplot/
’http://www.math.meiji.ac.jp/ mk/syori2-2006/mathematica/

1



4.2 gnuplot

4.2.1 100000000

/

gnuplot>
gnuplot>
gnuplot>
gnuplot>
gnuplot>
gnuplot>
gnuplot>
gnuplot>

plot sin(x),cos(x)
f(x)=x**3+2kx**2+3*x+4
plot [-4:4] f(x)

plot [-pi/2:pi/2] [-10:10] tan(x)

set plot sin(1000%x)

show samples

set samples 4000
set plot sin(1000%x)

N
-

\_

gnuplot> f(x)=exp(-x*x/2)/sqrt (2*pi)

gnuplot> plot [-3:3] f(x)

~uggoobbbuoooobbbod

J
~

J

01. 00000000000 (L3¢ 000)

4.2.2 2000000000

gnuplot>
gnuplot>
gnuplot>
gnuplot>
gnuplot>

gnuplot>

set

contour

set

nosurface

set

view 0,0

set

isosamples 100,100

set

cntrparam levels incremental 0,1,0

splot x**2-y*x*2




4.2.3 00000000

gnuplot> set parametric
gnuplot> plot t*cos(t),t*sin(t)
gnuplot> plot [-pi:pi] cos(3*t),sin(4xt)

4.3 Mathematica

4.3.1 100000000

In[1]:= Plot[{Sin[x],Cos[x]},{x,-Pi,Pi}]

In[2]:= f[x_]:=x"3+2x"2+3x+4

In[3]:= Plot[f[x],{x,-4,4}]

In[4]:= Plot[Sin[1000*x],{x,0,Pi},PlotPoints->4000]

4.3.2 2000000000

(—(Jontourfﬂotﬂ 0000000

In[]:= ContourPlot[x"2 -y~2,{x,-2,2},{y,-2,2},ContourShading->None]
N
~ ImplicitPlot[] 0000000
In[]:= Needs["Graphics‘ImplictiPlot‘"]
In[]:= ImplictiPlot[x"2 -y~2==0,{x,-2,2}]
N J
4.3.3 0O000O0OO0O0O0OO
[In[] := ParametricPlot [t*Cos[t],t*Sin[t], {t,-10,10}] ]

4.4 000

000 #%/4—4?=1000000 (00 -10)000000000000000000
000000000000000000000000000000000000000000
0ooo




Needs ["Graphics ‘ImplicitPlot ‘"]

g = ImplicitPlot[x"2/4 - y°2 == 1, {x, -6, 67},
PlotRange -> {{-6, 6}, {-3, 3}},
AspectRatio -> 1/2]

t = Plot[{-x + Sqrt[3], -x - Sqrt([3]}, {x, -6, 6}]

gt = Showl[g, t]

Export["c:/home/mk/nantoka.eps", gt]

N

0200000000

4.5 Maple

4.

5.1 100000000

> plot([sin(x),cos(x)],x=-Pi..Pi)

> f(x):=x"3+2x"2+3x+4;

> plot(f(x),x=-4..4);

> plot(sin(1000*x), x=0..Pi, numpoints=4000);

4.

N

5.2 2000000000

> with(plots);
> contourplot (x**2-y**2,x=-2..2,y=-2..2);

N

> with(plots);
> implicitplot (x**2-y**2=0,x=-2..2,y=-2..2);

AN




4.5.3 0000OO0OO0ODOO

> plot([t*cos(t),t*sin(t),t=0..2%Pi]);

> plot ([(t"2-1)/(t~2+1),2%t/(t"2+1) ,t=-infinity..infinity] ,numpoints=100) ;

5 Lo
5.1 00U

3:2 y2
@ et

2 4,2 _ 12 @
Oz+y =00 y0O000O 5 guoooooooobn
r=acosl, y=asinh (0¢€][0,2n])

gboboboooobbobuoooobbboooobod

set parametric

set size ratio -1

a=3

b=2

plot [0:2*pi] a*cos(t),b*sin(t)

N

(: a=3; b=2; ParametricPlot[{a Cos[t],b Sin[t]},{t,0,2Pi}]

NN

5.2 00O

2 2
@y
a?  b?

x = tacosht, y=bsinht (t€R)

set parametric
set size ratio -1
a=3; b=2;
ParametricPlot [{{a Cosh[t], b Sinh[t]},
{-a Cosh[t], b Sinh[t]}},
{t, -3, 31,
PlotRange -> {{-10%a, 10%*a}, {-10%b, 10%bl}},
AspectRatio -> b/a]




w00 3000000000000000000Ocosh3 =10.06--- 000000000
ooo

6 LUUgobono

6.1 Cassini [J 00

200000000000000000000 Cassini 000 (Cassini 0000, Cassini
oval, oval of Cassini) 0 O O O Giovanni Domenico Cassini (1625-1712) 000000000
ggd
s guooon N

gbogd 20000000boo0uogoobogbbooboboobbogbooobo
goo

e OO0 ...0ODO
e IO ...00O0O
e JOODO ... Cassini O OO

e 0 (0)000 ... Apollonius* 00 (0000000000 O0000)

®Apollonius (Arolwrios, B.C.262(2457)-190 O .), Pergacus, 00 0000000000000 OO
(Pamphylia) 0000000000 0OO0OO0OOOO0O0OOOOOOOOOOOOOD (DODDOOOOOO)O0OO
00000000 80000000 DO (o000 OO0O0UODO0O0DU0DODmMOoODUOoOoOoDULooOoO
00000oO0)oooooooooooo
N J

0000 (+6,0) 000000000 ¥ OOOOO

[(z—a)?+¢*] [(z+a)* +¢*] =0

gbobooooboood
(22 + y* + a*)* = 4a®2% + b,
goobooo
r* —2a*r? cos 20 + a* = b*.
bOOUODODOb<aeODOODOODOOODODODOODOOe<hODODODOOODODOODO
b=aO0000 @2 +y?)?=2d%2?-y?) 000000d :=+v2«0000

(x2 + y2)2 _ a’z(x2 . y2)

00000000000000000000 (lemniscate of Bernoulli) 0000080000
ooood
b>e 00000000 0000000 a<b<+2«000000000000b>v2a
Ooooooooooo
20000000000000000000Mathematica U U0 ImplicitPlot[] OOOO
ooo



-4 2 0 2 4 -4 -2 0 2 4

0 3: Cassini O oval (a =2,b=2.1) 0O 4: Cassini 0 oval (a =2, b= 3)

(DecartesDDD,DDDDDDD,CaSSiniDDDDDD ~

Needs["Graphics‘ImplicitPlot‘"] (DOOODOOOCOOOODOO)

decartes[a_] :=ImplicitPlot[x"3+y~3-3 a x y==0,{x,-4,4},{y,-4,4}]
lemniscate[a_] :=ImplicitPlot[(x"2+y~2) "2==a"2(x"2-y"2),{x,-4,4},{y,-4,4}]
limason[a_,b_]:=ImplicitPlot[(x"2+y~2-a x)"2==b"2(x"2+y~2),{x,-4,4},{y,-4,4}]
cassinila_,b_] :=ImplicitPlot [(x"2+y~2+a"~2) "2==4a"2x"2+b"4,{x,-4,4},{y,-4,4}]

g=lemniscate [4] (a=4 DOOOODOOOODO)
SetDirectory[$HomeDirectory <> "\My Documents"]]
Export["lemniscate.eps", gl

N J
OO00000d z,y0000O00OO00OO0OO00O0OO0OOO0OOO0O ContourPlot[] OO OO

OOoooooooooboooubOoD 2000 yUODODODODODODOODOOSoLvell

0000000000000 00000000000O0O0000000D (DOOOD)o

6.2 [0
6.2.1 Archimedes 000

gogg
r=afd

gbobbooodgbobbod
gbooboooobobbooggbbboooobbboooobobboo

6.2.2 0000



2 T T T T T T T T T N T
— trcos(t), t*sin(t)
1+ \
of / |
/ /
[ /
| /
| //
1k | /
\
\
\\
2+ \
3+
-4 F
~_
5 1 1 1 1 1 1 1 1 1 1
4 3 -2 1 0 1 2 3 4 5 6

O 5: set parametric; plot [0:2%pi] t*cos(t),t*sin(t)

T

-80 1 1 1 1 1 1
-60 -40 -20 0 20 40 60 80

: set parametric; plot [0:20%pi] t*cos(t),t*sin(t)



sqrt(t)*cos(t), sqrt(t)*sin(t)

6.2.3 UU00O0OO0OOOOOOO0OODOOOOOObDODOOO

r = aeb9

O0000o0oUoouoouoouoouoouoouoouoo
ooogoooooo
rcosf aet? cos
rsinf ae® sin 0
O00ooooooooog

, ae(bcos — sin
¥ (‘9) = b0< . ) :
ae”(bsinf + cos 6)

0o0oooooooooooooodon «o 0000
(bcos® —sind) cos + (bsin + cosf)sinf

b

cosa = -
V/ (bcosf — sinf)? + (bsin 0 + cos )?

()6 )0)

0000 (000000000)0oooooooo

V2 +1

OOob0eDO0OO0OOODOODODODOODOOOODODODODOOO



6.3 Descartes O 0O 00O

Descartes 1000 (D O0OODO0OO, folium of Descartes, 1638 0 )

23+ — 3axy =0

y=tz 0O O0O0O0O00OOO0O0O0O0OODO

3at 3at?
a’/’ = — =
i+ YTy

gooo
r=rcosf,y=rsind 00000000 0O00O0O0O0O

3asin 6 cos O
r=
sin® 0 + cos3 6

gooo

10



e gnuplot O

a=1

f(x,

set
set
set
set
set
set
set

y) =x**3+y*k*3-3xa*xx*y
xrange [-3x*a:3xa]
yrange [-3x*a:3xa]
view 0,0

isosample 100,100
size square

cont base

cntrparam level incre 0,0.1,0

unset surface

set

nokey

#set border 0
#set noxtics

#set noytics

set xzeroaxis 1t O

set yzeroaxis 1t O

splot f(x,y)

0 7: gnuplot

11




Mathematica O

Needs ["Graphics‘ImplicitPlot ‘"]
g = ImplicitPlot[x"3 + y°3 - 3 x y == 0, {x, -2.5, 2}]

-3}

O 8: Mathematica

64 0UO0OOOOO

0 6.1 (000000 (cyeloid) 000) « 000000000000 ot) = (a(t—sint), a(1—
cost)T (t€[0,2r])) 00000000
(O0) ¢'(t) = (a(l —cost),asint) DO DO OO

t t
' (O = \/@2(1 —cost)? + a?sin’t = a\/2(1 — cost) = 2ay/sin® 5= 2a sin 3

obooobog

2T 2 t
/ I ()] dt = / 2asinL dt = 8am
0 0 2

0 DO000O00T: 7= (a(t—sint),a(l —cost))’ (t€[0,27])) 0 y 0ODDOO0OOOO0O
DDDDD3D(DD:/ydm:3wa2)
T

S00000000000000000000000000000000 (000000000000...)037a?
0000000000000000000000000 (00 [?7)0 pp.194-19¢00000000000000
0)0

12



(a(f —sinB),a(1l — cosh))

@)

09000000 (x,y) = (a(f —siné),a(l —cosh)) (6 € [0,27])

, l—cosl(t)

LIty

O r i

0 10: 000000 (z,y) = (t—sint,1 —cost) (gnuplot O 0O0O)

set parametric;set size ratio -1;plot [-8:8] t-sin(t),1-cos(t)

6.5 Cardioid

Cardioid
r=1+cosf (0<6<2m)

OO00O0DbOo0O QDOOoDO

2
wu(Q2) = —/ (14 cosf)? do = ;7‘(’..
0

6.6 UJUOOOO

r=af —bsinf), y=a—bcosh

(e=b0000000000000)e<b000000000000e>b0000000
gobooog

13



00 11: Cardioid ParametricPlot[{(1+Cos[t])Cos[t], (1+Cos[t])Sin[t]}, {t,0,2Pi}]

6.7 0OODO

000 (D000, catenary?)

T 6ac/a +6—r/a
y = acosh (—) =q—.
a 2

gboboboooobbbuoooobbbooobbbodgol1ea oo

5 T T T T T

T
a*cosh(x/a)

6.8 O0O0OOOODO (lemniscate)

0000000 (lemniscate, 100, 0000000000)

i00000000000000 catena (000000 0)00000000O0O0OO0O

14



r? =a*cos20 (0 €[-7/2,7/2])

(2 + ) = a® (2 — °)

-0.5¢

“1.5 -1 -0.5 0 0.5 1 1.5

0 12: ImplicitPlot[(x"2 + y~2) "2 - 2(x"2 - y~2) == 0, {x, -1.5, 1.5}, {y, -1,
1}]

a=+2000020 (£1,0) 00000000 100000000000
gbooooogn

u:/mde:@/%:ﬁ/% (c = tan).

15



Gauss 1000 z=s(u) 00000000000000000 (Gauss 00000000
00)000000000000050000000000000000000000000
nooo

00 [7,00 [7]0000

6.9 0UUOO

r = acosnb

sin(2*t)*cos(t), sin

16



sin(3*)*cos(t), sin(3*)*sir

$in(4*t)*co

17



(t), sin(6*t)*sin(t)

18



6.10 OOUOOgog

6.11 0OOOO0O0O0

223 4 y2/3 — g2/3

r=acos’d, y=asin®0 (0c]0,2n])

19



cos(t)**3, sin(t)**3

A Cassini 000
ry 00000000
(d) (z =12+ [(e+1)°+y?] =a* («DODODODO)
000000000 CODO0000D000000000
() 0 (0)0 4? 00000000y =f(z) 0000000
(2) 0<a<+200000000 flz)00000000
(3)1<a<+200000000 COODOOOO
(00000000000 0000000D00Cassini 0000000000000)
(1) »>?=Y 00000(0) O
V24 [(z =12+ @2+ 1) Y+ (z+1)*(z -1 =d
000000000
Y2422 + )Y + (22 - 1) —a* = 0.
200000000000
Y=—(®+1) /(@2 +12—[(a2 - 12 —a'] = —(a® + 1) + V422 + a’.
Y=¢4>000000000000000000 —0000

y* = —(2® + 1) + Va2 + at.

20



(2) flx)=—(x*+1)+V4z2+a* 00000
1 8x 2x (2—\/4x2+a4)
2 VA2 v at VAazr? + a* '
goo f/(x)ZODDDDDDxZODDD Va2 + et =20000000

4 Y
Va2 +at =2 < 42°+ad'=4 < x2:44a po x:i%.

00 a<y200 4—a¢*>0000000+v4—-¢*/2000000000000000
000000000 f(x) DOOOO

V4 —a? V4 —at
r | —00 - 0 —_— 00
2 2
'(z) + 0 — 0 [+ o |-
flx) | —o0 2+at/4 a’—1 2+at/4 —00

y=f(x)J0DO0O0 000000ODODOOO

fr)=0 & 2°+1=V422+a? & ' +22% +1=42"+a*
e ot -2+ (1—-a") =0
o 22=1+/1-(1-a")=1+Va' =1+d>

goon

) 0<a<100O00f(x)=0000002==2vVIta £vVI—a2 000 f(z)>0
O00000 V1i+a2<z<—/1—-a2000 V1 —-a2<z<+V1+a%

(i) a=10000f(x)=00000002=0,+vI+a 000 f(z)>00000
O0 vV1+a2<z<+V1+a2

21



(i) 1<a<v20000f(z)=0000002=+VI+e 000 f(z)>0000
000-vVi+a2<z<V1+d (00:¢=120000000)

B) VIt <z<Vita —\2+a/i<y<.2+d/A000000000y0000
00 (0,4va? —1).

0.4
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